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http://farbe.li.tu-berlin.de/eeq8/eeg8lOnp.pdf /.psonly vector graphic VG; start output
see similar fileshttp://farbe.li.tu-berlin.de/eeq8/eeg8.htm
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Equal 9 step grey scaling betweeb* gon=17.9 andL* gqn=95.9, Yoref=2.5, normalisation whiteW

Equal 9 step grey scaling betweeb*gon=17.9 andL* gaw=95.9, Yoref=20.0, normalisation white

L*0an=17.9,L*0a756.9,L* 0an~96.0,Yoan=2.5, Yoa=24.9, Yoaw=90.0,Coay=Yoaw: Yoan=36.0
L*tan=26.3,L*15=58.6,L*1a1=96.0, Y;an=4.9, Y;a=26.6, Y;an=90.0,Ciay=Yiaw: Yian=18.5
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PAL* min] / [AL* max], L* cleLag = 116 [Y/Yn]1/3 - 16 with Y >= 0,882,Y,,=100

g%= 99, g%= 99 g%=78, gp= 72 g%= 97, g%y= 97

L*0an=17.9,L*0a=56.9,L*0an=96.0,Yoan=2.5, Yoau=24.9, Yoaw=90.0,Coay=Yoaw: Yoan=36.0
L*tan=50.0,L*1au=67.1,L*1a0=96.0, Y;an=18.4, ¥;au=36.7, Y1an=90.0,Ciay=Yiaw: Yian=4.9
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PL* min] / [AL* max], L* cieLas = 116 [Y/Y,]1/3 - 16 with Y >= 0,882,Y,=100

9%= 99, g%5= 99 g%s=42, g%5= 33 g%= 97, g%= 86

L*cieLaB  intended output real output linearized output L*cieLag  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) 11lLl*a Al*la n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) L141L*a Al*a
1007 (Mo 90 120 90 10! 9.0 10 900 1.0 96.0 1007 (e 960 10 9.0 10} 9.0 10 900 10 96.0
: 95 8.6 : 7.8 5.7
8 862 0875 685 0.754 865 0.864 69.0  0.877 87.4 8 862 0.875 685 0.754 88.1 0.829 724  0.876 90.3
: 9.4 8.7 : 75 5.8
25l (7 765 075 507 055 77.1 0729 517  0.752 78.7 25l (7 765 075 507 055/ 80.6 0.666 57.8  0.75 84.5
; 9.3 8.7 ; 7.1 5.8
6 66.7 0.625 363 0386 67.8 0595 37.7  0.627 70.0 6 66.7 0.625 363 0.386 73.6 0512 46.0  0.623 78.7
1 9.2 8.8 : 6.5 5.8
@5 569 05 249 0256 586 0464 266 05 61.2 @5 569 05 249 0256 67.1 0371 36.7  0.496 72.8
1 : 8.9 8.8 1 3 5.8 5.8
50 @+ 472 0375 162 0156 497 0335 182  0.374 52.4 50 @+ 472 0375 162 0156 613 0.246 29.6  0.371 67.1
3 8.6 8.8 3 48 5.6
@: 374 025 98 0083 411 0212 119  0.247 436 @3 374 025 98 0083 564 0.14 244 025 61.5
3 7.9 8.6 3 3.8 5.3
o5l @2 277 0125 53 0032 332 0.098 7.6 0.124 35.0 o5 @2 277 0125 53 0032 526 0.058 20.7  0.134 56.1
; 6.8 8.6 ; 2.7 6.1
@: 179 00 25 00 263 00 49 0.0 26.3 @: 179 00 25 00 500 00 184 0.0 50.0
. AL*(=9.7 (i=1,2,...,8) ' normalisation: Yiaiw=Yoawx 02 Y0ret_ o AL*0.=9.7 (=1,2,....8) ' normalisation: Yiaiw=Yoaw0ai Yoref
0a~>- e : Yoawt Yoref 0a—=- e 1 Yoaw* Yoref
eeq80-3n eeq81-3n

Equal 9 step grey scaling betweeh*ogN=17.9 andL* gaw=95.9, Yoref=10.0, normalisation whiteW

Equal 9 step grey scaling betweeh*ogN=17.9 andL* gan=95.9, Yoref=90.0, normalisation whiteW

L*0an=17.9,L*0a=56.9,L*0an=96.0, Yoan=2.5, Yoau=24.9, Yoaw=90.0,Coay=Yoaw: Yoan=36.0
L*tan=40.0,L*tau=62.8,L*taw=96.0, Ytan=11.2, %ta=31.4, Ytaw=90.0,Gay=Yiaw: Ytan=8.0
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PAL* min] / [AL* max], L* cleLaB = 116 [Y/Yq]Y/3 - 16 with Y >= 0,882,Y,=100

g*5: 99’ 9*9: 99 g*5: 53’ 9*9: 45 9*5: 97’ g*g: 93

L*0an17.9,L*0a=56.9,L*0an=96.0, Yoan=2.5, Yoau=24.9, Yoaw=90.0,Coay=Yoaw: Yoan=36.0
L*ian=73.7,L*ta=80.4,L*1an=96.0, Yian=46.2, Yiau=57.4, Y;1aw=90.0,Ciay=Yiaw: Yian=1.9
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PAL* min] / [AL* max], L* cleLag = 116 [Y/Yn]1/3 - 16 with Y >= 0,882,Y,=100

g%= 99, g'y= 99 g%= 25, g%y= 19 g%5= 89, g%=73

L*cieLaB  intended output real output linearized output L*cieLag  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) 1129 *a Al*la n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*r) 1168 *a Al*a
1007 (M9 90 10 90 10: 9.0 10 900 1.0 96.0 1007 (M9 960 10 90 120! 9.0 10 900 10 96.0
: 8.7 6.9 : 46 2.9
8 862 0.875 685 0.754 87.3 0.845 706  0.877 89.1 8 862 0.875 685 0.754 91.3 0791 79.2  0.87 93.1
: 85 7.0 : 42 2.9
751 (/7 765 075 507 0.55; 78.8 0.693 546  0.752 82.1 751 (/7 765 075 507 0.55 87.2 0.603 70.3  0.741 90.2
3 8.2 71 3 3.6 2.8
6 66.7 0625 36.3 0.386 706 0547 41.6  0.626 75.0 6 667 0625 363 0.386 835 044 631 0613 87.4
1 7.8 71 1 3.1 27
@5 569 05 249 0256 628 0.408 31.4  0.499 67.9 @5 569 05 249 0256 804 0.301 57.4  0.49 84.6
1 3 7.2 71 1 3 25 2.6
50 @+ 472 0375 162 0156 55.6 0279 235  0.372 60.8 50 @+ 472 0375 162 0156 77.9 0.189 531  0.371 82.0
3 6.4 7.0 3 1.9 25
@3 374 025 98 0083 492 0.165 17.8  0.247 53.8 @3 374 025 98 0083760 0.103 49.9  0.258 79.5
; 5.3 6.7 ; 1.4 2.4
o5l @2 277 0125 53 0032 439 0071 138  0.128 47.2 o5l @2 277 0125 53 0032746 0041 47.7  0.149 77.0
; 71 ; 0.9 3.3
@: 179 00 25 00 400 00 112 00 40.0 @: 179 00 25 00737 00 462 0.0 73.7
o AL*0.=9.7 (i=1,2,...,8) normalisation: YtaiszOaW\M o AL*0.=9.7 (i=1,2,...,8) normalisation: YtaiszOaWM
Oa— e ; Yoaw™* Yoref 0a—- e : Yoaw™ Yoref
eeq80-7n eeq81-7n '

Test chart eeq8; Equal 9 step grey scaling for fo

ur display reflettigirs2,5, 10, 20, 90, and
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blackL*N cieLAB=17.92,YN=2.5 and whitd* cieL AB=95.99,Y\w=90, normalisation: whitgV
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